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el MEAFHIY BHS(LSALHAFHIANRAS S CERED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
Ofl LA X1 2 ,536,288 2,627,782 A 91,494
J| ,591,100
Al 945,188
X & X ,936,288 2,627,782 A691,494
J| ,591,100
Al 345,188
LEAFHIY 2L (LEANLALTHEIAXE ,936,288 2,627,782 A 691,494
Sg3)
J| ,591,100
Al 345,188
XA FHISE NSAMD(ESsH2) 165,200 251,300 A 86,100
J| 165,200
401 Al HI & 28I 4,606 0 4,606
J| 4,606
01 A& HI 4,606 0 4,606
OgdA=HISY OtSXN &  4,606,0008 * 4,606
J| 4,606
402 RIZ2FXt20l ™ 160,594 251,300 A 90,706
J| 160,594
02 22t X2 AL E = (01X THE) 160,594 251,300 290,706
OgdA=8HIA OISX&
160,594,000& * 100% 160,594
J| 160,594
SXA FHISE XSAIS (ol 5He) ,312,200 1,387,200 AT75,000
J| ,312,200
401 Al B2 28I 66,788 0 66,788
J| 66,788
01 A& HI 66,788 0 66,788
OgdA=HISA OISX&
66,788,000& * 1 66,788
J| 66,788
402 RIZFR201 A ,245,412 1,387,200 A 141,788
J| ,245,412
02 QIZEXH2AIS B (01 &) ,245,412 1,387,200 A 141,788
OgdA=HISA OSSN
1,245,412,000& * 100% ,245,412
J| ,245,412
gL FEHIY NFAL(EH) 34,700 34,700 0
J| 34,700
401 Al Bl 28I 17,850 15,850 2,000
Jl| 17,850
01 A& HI 17,850 15,850 2,000
OgdA=zHNYA OSSN
17,850,000& = 17,850
J| 17,850
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Off LA X1 2t
X &g X3

Tl WHAZMAY HASH(SENLHATHNANANLSH3H) (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
402 BI2FX=01 M 16,850 18,850 A 2,000
J| 16,850
02 QI E2AL EZ (OIS ) 16,850 18,850 A 2,000
OgdA=EHISA OISXE
16,850,000& * 100% 16,850
J| 16,850
XA FHINS KNSAS(EHSH) 79,000 79,000 0
J| 79,000
401 Al HI K 201 I 63,000 51,000 12,000
J| 63,000
01 A& HI 63,000 51,000 12,000
OgdA=HIA OISXE
63,000,000& = 14 63,000
J| 63,000
402 2I2H X201 M 16,000 24,800 A 8,800
J| 16,000
02 QIZE 2 A EZ (01X TH ) 16,000 24,800 A 8,800
OgdA=HISA OISXE
16,000,000& * 100% 16,000
J| 16,000
2L FENY QASIAS 330,000 300,000 30,000
501 X3 330,000 300,000 30,000
01 22t Xt= 330,000 300,000 30,000
OLFHAFHIY FUSXXNE EX=
330,000,000 » 14 330,000
0l Bl 8l 15,188 575,582 A 560,394
801 GilBI8l 15,188 575,582 A 560,394
01 Btolbltl 15,188 575,582 A 560,394
Ououldl bl 15,188,000& * 14 15,188
MHRES (0l X 600,000 0 600,000
HEHHXS(ZSEANLELFTHISRNIAMNSSES H) 600,000 0 600,000
SEMEUHEEIIZ HE 600,000 0 600,000
704 O &= 600,000 0 600,000
01 &= 600,000 0 600,000
OsgMEetdslls HE=
600,000,000 * 14| 600,000




